3.6.20

Class 1 Update

We've had a busy week welcoming back more children to school and it’s been lovely to see
them playing with each other.

Although the focus has been on allowing the children time to settle in, we have been doing
some phonics and numeracy as a class and I'm really happy with what the children have
remembered. Thank you to all the parents who have engaged with learning at home - it’s
really appreciated. Myself and Mrs. Alves have both noticed that the children are reading
well and we are grateful to all your effort in this area.

For those children who have yet to return to school, I thought it would be worth letting you
know what we’ve been doing in terms of learning. Thus far, we have been practising adding
with a number line and locating mixed numerals to 20.

In phonics, we have been revising the /ai/ sound in the context of real and nonsense words.
Elsewhere, we have started thinking about the season of summer and identifying the things
that we might see or do in the summertime. There are some resources below if you wish to
use them.

Thank you to Chase for sharing with us some photos of what you’ve been up to — I hope you
are well and look forward to seeing you again.

Best wishes,

Mr. Sexton




Seaside Missing Sounds

Look at these seaside pictures and write the missing sounds to complete
the words.
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Number Line

Example:

Addition  |*7 1| HHHHHHHHH
&

11 I L1 L1
+ 3 = | I N BN B | — 1 1 1© 1 1 1
a 1 2 3 4 & 7 8 49 10 1 12

I [ T Ll I
4 1 = | DN N R B | — 1 1T T T & 1
a 1 2 3 4 & 7 8 19 10 11 12
L1 1 I I N N N
+ 4 = | DN N B B | 1 1 1 1 1 1
a 1 2 3 4 & 7 8 49 10 1 12

I [ T I I N 1
4 5 = | DN N R B | — 1 1T T T & 1
a 1 2 3 4 & 7 8 19 10 11 12

L1 1 L1 L1
+ 2 = | DN N B B | 1 1 1 1 1 1
a 1 2 3 4 & 7 8 49 10 1 12

I I T I I N N N |
4 4 = 1 1 T 1 | I I N B I
a 1 2 3 4 & 7 8 19 10 11 12

1 1 1 1 1 1 1 1 1 1
+ 3 = | DN N B B | 1 1 1 1 1 1
Q 1 2 3 4 & 7 8 49 10 1 12

I I T I I N N N |
+ 2 = o Tr T T T TroTrirTri
a 1 2 3 4 & 7 8 19 10 11 12
L1 1 I I N N N
+ 7 = 1 1 — 1 & & & 1
0 1 2 3 4 6 7 &8 494 10 11 12

L1 1 L1 L1
+ 4 = L L L L) — 1 & & & 1
0 1 2 3 4 & 7 8 49 10 1 12




